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Additional materials:
Soft pencil (type B or HB)
Soft clean eraser

TIME 1 hr and 30 minutes

INSTRUCTIONS TO CANDIDATES

Do not open this booklet until you are told to do so.

Answer all questions.

Write your name, Centre number and candidate number in the spaces on this page.
Write your answers on the question paper itself.

Use pencil

At the end of the test you must hand in the question paper to your supervisor.

Dictionaries must not be used.
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This question paper consists of 7 printed pages and 1 blank page.
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TO7R - PART I

Questions 1-5

Look at the text in each question. Mark the correct answer by choosing the Letter A, B or C.

1.

© BTEB 2014 TO7R

w&&H6T CFHTmSIOLMHESLD, GYHST6,
UGNl BLOWILOT & 60 GLITEIT M LI6V ST 6usTl& 61T 60
GP60 WTFOLERIDG. BFled STHMI,
BT, Bleow, ellewrGeuef
SILEI@ ST m 60T .

6T 60T LIGUT QLD

yullullesr Guopuginiled gouBn  HliTGeu
BloBEHGSD L GLW. BSTTe0 LITSIILSS6T
gHUGGCST®H 2_ulliT BUPLILD 2 63TLT(GLd.

GDOF QFweLB6T LILGMI @FLPIlemeVE6TIEn
BOLOUDEGTDET. &S DS WLITS
UTLPAUSDE) GHDDEIWS) SHLIL BLEUGHEDSSET
SIUFLIDT TS|

2 L 60l QaUlILGDSF FITES BT 2_HeHleimg|.
&SSO QFlwed, eleugruid GeFueybd
OBTPDFTMEVBEHEBHTR  BHENEUBEHBEGLD
LWETUGH ST G-

wrmiser OFg OBTYHM6ET  6UETTHD
GouswiH>. STHSH6T JPILmS Blmiss

GouswiHLd

VERSION A

What does this indicate?
A. Global Warming
B. Earth quake

C. Environment Pollution

What does this indicate?
A. Deforestation
B. Earth quake

C. Criminal Actions

What does this indicate?
A. Criminal Actions
B. Global warming

C. Deforestation

What does this indicate?
A. Earthquake
B. Water utilities

C. Environment Pollution

What does this indicate?
A. Global Warming
B. Water utilities

C. Deforestation




TO7R -PART Il
Questions 6-10

Read the following statements and decide which one applies to each text.
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6. Cross the road at the crossing road marks only.

7.  Walking through over head bridge

8. Stop vehicles at red signal.

9 Drive vehicles on the left side

10. Use the foot path

[TURN OVER]
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TO7R - PART Il

Questions 11-15
Read the paragraph and answer the questions (11-15)
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11. We can store data in the computer.

A. Right B. Wrong C. Not in the text.
12. We can’t listen to Radio via Internet

A. Right B. Wrong C. Not in the text.
13. We can improve the technology.

A. Right B. Wrong C. Not in the text.
14. We can study through the Internet to obtain a degree

A. Right B. Wrong C. Not in the text.
15. Satellites are used for research

A. Right B. Wrong C. Not in the text.
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TO7R - PART IV

Questions 16-20

Read the paragraph and answer the questions (16-20)

16. Which of the following statement describe the city houses?

17.

What is green in a village?

A. Fields
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A. Each and every houses are far apart

B. House are congested

C. There are no apartments

B. Buildings

C. Fence
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18. What is the main problem faced in a city?
A. lack of houses
B. lack of electricity

C. Unemployment

19. How do the villagers get their food?
A. Farming
B. From import

C. Business

20. Which one of these is not used by city people?
A. Telephone
B. Computer

C. Kite
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TO7R - PART V

Questions 21-25

Read the following text and choose from the list (A-E). The sentence which best
summarises each part (21-25).

A.

21.

22.

23.

24.

25.

Parents worry about the children.

Communication between parents and young people.

Children should have good relationship with friends.

Children do wrong things without the knowledge of the parents.

Parents don’t respect their children’s feelings.
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